www.prepp.in

prepp

Your Personal Exams Guide

UGC NET PAPER 3 NOVEMBER 05, 2017 SHIFT 1 ECONOMICS QUESTION PAPER

Note :  This paper comtaing seventy five (75) objective tvpe questions of two (2) marks cach. All
questions are compulsory.

1.  Consider the following diagram showing the market demand and supply curves for a
commodity. [f the government fixes the price I’} above the market clearing price I, then the
dead-weight loss is represented by :
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(1)  Area of triangle ABE
(2)  Area of triangle EBC
(3)  Area of triangle ABE +area of triangle EBC

(4)  Area of rectangle /A B P,

2. Which of the following [eatures belong to Cournots” model of duopoly ?
(a) It vields determinate and stable equilibrium for the duopolists
(b)  Ttis an adequate representation of Nash equilibrium

(¢)  Tf the duopolists combine to form a monopoly, the price changed by them will be less
than the equilibrium price without their combining ltogether.

Of the above which statements are true ? Choose from the code below :
(1) All the above are correct (2) (a) and (c) are correct

(3) (a) and (b) are correcl (4) (b) and (c) are correct
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A good is called a "Giffen good” when the income effect is :
(1)  positive and is greater than the substitution effect

(2)  kqual to substitution cffect

(3)  Less than the subslitution effect

(4) Negative and is greater than the substitution effect

Movement from an inefficient allocation to an efficient allocation in the Edgeworth Box
will :

(1) increase the utility of all individuals

(2)  increase the ulility of at least one individual, but may decrease the level of utility of
another person

(3)  increase the utility of one individual, but cannot decrease the utility of any individual

(4)  decrease the utility of all individuals

In explaining the price offect, which of the following is/are constant ?
(a) Real Income

(b)  Money Income

(c)  Price ralio

Choose the correct answer from the code given below :

Code :

(1)  Only (a)

(2)  Only (b)

(3)  Both (b) and (c)

(4)  Both (a) and ()

Which of the following is a problem connected with general equilibrium analysis ?
(1)  Existence problem (2)  Umiqueness problem

(3)  Stability problem (4)  All of the above
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In the adjacent diagrams 1 and 2, the demand curve DD and supply curve 55 are shown.

L and I represent the equilibrium points. Then which of the following is correct ?

\D v 5

FPrice e
kS

- D&S X O D&S X
Fig. 2

Both points E and I are the points of stable equilibrium
Both points E and IF are points of unstable equilibrium

Fquilibrium is stable at point E and unstable at point F

Equilibrium is unstable at point E and stable at point I

Which of the following statements about Pareto Optimum are correct ?

[t changes with changes in the distribution of income
At the Parceto optimum, MRS in consumption = MRT i production
It 1s not unique

It is obtained under perfect competition

Code :

(a), (c) and (d)
(b) and (c)
(a), (b) and (d)

(@) and (b)
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12:

Market prices adjusted to consider differences between social cost - benefit and private cost-

benelit calculations are :
(1)  Consumer Surplus (2)  Drice distribution

(3) Exchange rate (4)  Shadow prices

‘Bandwagon Llfectl” is found in which of the following ?

(1)  Life cycle hypothesis (2)  Permanent mcome hypothesis

(3)  Absolule income hypothesis (4)  Relative income hypothesis

Consider the following statements :

(a)  Phillips curve is an inverse relationship between the rate of unemplovment and the

rate of inflation in an economy

(b)  Engel’s Law observes that as income rises the proportion of income spent on food falls

even if the actual expenditure on food rises
Which of the above statement(s) 1s/are correct ?
(T)y  Only (a) (2)  Only (b)

(3)  Both (a) and (b) (4)  Neither (a) nor (b)

Which amongst the following s not well matched ?
Concept Economists
(1)  Dual decision hypothesis R.W. Clower
(2)  Natural rate of unemployment  E. Phelps and M. Friedman
(3)  Limit Price Theory J. Bhagwati

(4)  Planned sales curve Mrs. ]. Robinson
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Which amongst the following is correct for the aggregate demand function shown in the

diagram 7
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Choose the answoer from the code below -
(2)
(4)

(1)  (a) and (d) arc correct

(3)  (b) and (¢) are correct

Permanent income hypothesis assumes positive correlation between which of the following

pairs of variables ?

(1)  Permanent mcome and transitory income
(2)  Permanent income and transitory consumption
(3)  Permancnt income and permanent consumption

(4)  Transitory mcome and transitory consumption

(a) and (c) are correct

(b) and (d) are correct
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Which of the following would be the initial impact on an economy if wages were to increase
more than workers productivity ?

(1)  Employment would increase, causing a rightward shift in the aggregate demand curve

(

(3)  The short - run aggregate supply curve would shift to the left, increasing the price level

[

)} The aggregate demand curve would shift to the left, increasing the price lTevel

(4) Lmployment would decrease, causing a rightward shift in the aggregate demand curve

Consider the following slatements describing the relationship between marginal propensity
to consume (m.p.c) and the value of the multiplier :

(a) Higher the m.p.c lower is the value of multiplier
(b)  Higher the m.p.c higher is the value of multiplier
(¢) I m.pc=1, value of multiplier will be =
Which of the above statements is/are correct ?

(1) (b) alone (2) (b) and ()

(3) (¢} alone (4) (a) alone

Match List - I and List - Il and select the correct answer from the code given below ;

[ist - I List - 11
(Curve) (Relationship)
(a) Lngel curve (i)  Tax Revenue - Tax rate
(b)  Rahn curve (ii)  Income - consumplion
(c) TLaffer curve (i)  Enviromment - Per capita Income
(d)  Kuznets curve (1v)  Govt. Expenditure - per capita Income
Code :

@ (b)) (g (d)
(iv) @) (@ (i)
(i) () (v) (i)
() () () (i)
(m) (1) () (1)
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‘Golden rule of accumulation” refers to the savings rate that :

(1)  maximises the growth rate of outpul
(

2)  optimises the investment in the economy
(3)  maximises the growing per capita consumplion
(4)  None of the above

Which amongst the following statements are true for Schumpeter model of development ?
(a) Development is possible because of credit creation by Banks

(b)  Development flourishes m democracy

(c)  Capitalist economy develops through trade cycles

Of the above which statements are correct 7 Answer from the code below :
(1) All the above are truc (2) (a) and (b) arc true

(3)  (b) and (¢) are true (4) (a) and (c) are true

In Marxian model, the rate of proftit on capital is :
(1)  Direclly proportional to rate of exploitation as well as organic composition of capital
(2)  Inversely proportional to rate of exploitation and organic composition of capital

(3)  Inversely proportional to rate ol exploitation and directly proportional o organic
composition of capital

(4)  Direclly proportional to rate of exploilation and inversely proportional to organic
composition of capital

Which of the following is/are true for AK model of growth ?

(a

) It assumes constant savings rate

(b)  This savings rate is exogencously determined

(c)  The marginal product of capital is diminishing as output expands
Of the above which statements are correct ?

(1)  All the three above are correct  (2)  Only (a) and (b) are correct

(3) (a) and (c) are correct (4)  Only (b) and (c) are correct

According to Fisher - Clark thesis which one of the following 1s the correct sequence of
structural shift in the process of development 7

(1) Agriculture, Services, Industry

(2)  Agriculture, Industry, Services
(3)  Agriculture, Industry, Foreign trade
(4)  Agriculture, Foreign trade, Services
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Hagen's theory of social change uses psychology, sociology and anthropology to explain
how a traditional agricultural society :

(1) attains conlinuing technical progress
(2)  learns lo accept its fale
(3)  has a social structure where high status 1s maintained

(4)  produces an accommodating personality with a high need for achievement

According to Lewis modcel, the dual cconomy grows, only when

(1)  Modern sector increases its output share relative to the traditional sector
(2) agriculture sector uses modern equipment

(3) agriculture scctor hires labour cconomically

(4) modern manufacturing sector is capilal intensive

One of the dependency theorists, Andre Gunder rank suggests that the [ollowing economic
aclivities have contributed to under development :

(a)  Workers migrating from villages to foreign - dominated urban complexes
(b)  TForming an unskilled labour force to work in faclories and mines and on plantations

(c)  Replacing indigenous entreprises with technologically more advanced, global, subsidiary
companies

(d)  Closing the cconomy to trade with and investment from developed countries
Choose the answer from the code given below :

(1) (a) and (b)

(2) (b} and (c)

(3)  (a), {(b) and (c)

(4) (a), (b), (c) and (d)

If in a Harrodian economy, Ga=10% and Gw =8%, this will lead to :

(1) Inflation (2)  Unemplovment (3)  Deflation (4) Stagtlation
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Match List - I and List - IT and select the correct answer from the code given below :

List - I List - I
(Author) (Book)
(a)  Gunnar Myrdal (1)  The rise and fall of nations
(b)  Ruchir Sharma (if)y  In Defence of Globalisation
(¢} Jagdish Bhagwati (ii1) Capitalism, Socialism and Democracy

(d)  Joseph Schumpeter  (1v)  Asian Drama

(@ (b)) (o)

(i) @ () (iv)
(v) () (@) (i)
(iv) (i) (1) (i)
() (U ) (i)

d)

%

P et
i

The “twin deficit” problem means a counlry having :

(1) High tiscal deficit and high current account deficit

(2)  High fiscal delicit and high revenue deficit
(3)  High fiscal delicit and high governance deficil
(4)  High fiscal deficit and high primary deficit

NMNCs can help the developing countries to:

(a)  Obtain foreign technology and innovative methods of increasing productivity
(b)  Employ rural unemployed labour

(c)  Finance a savings gap or balance of payments delicil

(d)  Generale appropriate technology bv adapling exisling processes

Choose the correct answer from the code given below :

(1) (a) and (c) only

(2) {bj and () only

(q’) {a), ( ) and ( Lmh.-'
@ (a), (b), (¢) and (d)

Which of the {ollowing 1s not part of the W.T.O. Agreement On Agriculture (AOA) 7
(1) Input subsidies

2)
(3)  Domeslic support
(4)  Market Access

Export subsidies
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In the context of US economy, which one of the following is true for "Triffin dilemma’” ?
(a)  UShas to supporta large supply of dollars to act as an internationally accepted currency.

(b)  There is a conllict in the short run domestic and long run objective of US trade policy
resulting in trade deficit,

Which of the above statements are true 7 Choose from the code given below

(1)  Both {a) and (b) are true
(2)  Neither (a) nor (b) are true
(3)  Only (a) is true

(4)  Only (b) is true

Which of the following does not form part of the foreign exchange reserves of India ?
(1} Gold
2)  SDRs

T -

(3)  Foreign currency assets
(4)  Foreign currency and securities held by the banks and corporate bodies

T'he Regional Comprehensive Leonomic Partnership (RCEP) is a proposed free trade agreement
between the members of

(1) SAARC (2) ASEAN
(3)  BRICS (4) EUROPEAN UNION

Match List - I (Concepts) and List - II (Leonomists) and select the correct answer using the
code given below :

List - I List - 11

(Concepts) (Economists)

(a)  Gross Barter terms of trade 1) Jacob Viner
(b)  Single factoral terms of trade i)  Dorrance
(c)  Income lerms of trade i)  FW. Taussig
(d)  Secular deterioration in terms of trade of

developing countries

iv)  Prebisch - Singer

@ (o) (o |

(@ ) )
() ) (v) (i)

()

(

d

() (1)
(vy (i) (D)

- D
o P — R R —
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7. uh. AYeFee & Hey ¥ fmfafaa § @ =F ‘F;.T‘ i’ o feTg Wat & 7
(a)  G.TH. =l UL B9 | lehd hidl o &9 H &9 ki ok Tl =TS0 A0 H STl i 397d &
AR FHAT TS

(b) F.UH. =R ifq < areurafy ﬂwl ST Sty 35! zvq] |° fauy g fogs giomgsesy =2mr
’Eﬂ?’T:FHoI

IFF H " HE-9 99 " g7 A9 KU U ¥ 9 =9 Hw

(1) (a) 3 (b) THI W |

(2) Al (a) 8T|'{?f 2l (b) WEl 2|

(3) Had (a) HEI T

(4) HAe (b) T2

freaferfaa & & %W ura & fagsl g1 foord o1 feegn = =a1 & 2
(1) =

(2) UHELAR.

(3) foeeft ga1 aftgeataa

(4) o= 3R wRARe faEr gr i faeel gz ve gfayfaar

‘F ool SR hAIHE: 99’ (AR HLE L) e ioiEd & TSl o |4 Ueh 9&iad
T3 SATIR L G 7

(1) ® R (SAARC) (2)  #ATEAH (ASEAN)
(3) To= (BRICS) (4)  FIMHE €99 (FUROPEAN UNTON)

Gl - 1 (FeRedTe) =i Gt - 11 ( s1evnfear) o gafea wife 3R 9= ST 70 %52 =1 ggma 9
HE1 3L R TG hiTST

el - 1 =it - 11

( HemeuTy ) ( 2rTTEIT )
(a) TFA HAA-TZA AL I (i)  STeRel AT
(b)  Tshel HIEH SHTIR 90 (i) =™
(c) T =ATIR i (ili) WS, ZIE
(d) Tomrroelia <o o1 =R [l ° ek g (iv) e - fEm
he

(@) (b} (o) (d)
() (@ (@ (i) (iv)
(2) @ @ (Gv) (1)
(3) ) @ ) (iv)
(4) (v} () () (i)
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T'he presence of increasing returns to scale in an industry leads to :

' cliscouragr sroducers from exportin
l liscouraging producers from exporting

5

g

Hedging in the foreign exchange market refers to :

An act of devaluation

An act of revaluation

(2)
(3)  make that industry perfectly competitive
(4)

give a comparalive advantage in that industry to large countrics

cause price in that industry to rise with output

Covering a risk ol fluctuations in the foreign exchange rates in future

3)  Not covering a risk of fluctuations in the foreign exchange rates in future

Arranee the tollowine acts in the order 11 whic oy camoe mto toree :
Arrange the following acts in the order in which they came into for

(a)  Competition Acl

(b)  Foreign Exchange Management Act
(c)  Consumer Protlection Act

(d)  The Iactories Act

Choose the answer from the code below :

(1) (b), (a), (d), (c) (2)
(3)  (d), (), (b), (a) (4)

NMatch the following lists :
List- I
(Committees)
(a) Industrial Sickness
(b)  Public sector enlerprise aulonomy
(c)  Small Scale industry
(d) Infrastructure development

Code :

(a)  (b) (e} (d)
(1) ) @ @ (v)
(2) ) Gv) @ (1)
(3)  (v) () () (1)
4) () () (1)

(), (b), (0}, ()
(©), (d), (b), (a)

(1)

(ii)
(iii)
(iv)

List - I
(Chairperson)
Abid Tussain
Onkar Goswami
Rakesh Mohan
Arjun Sen Gupta
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T ST H THH & 9gd 9% i dieetl § 6 91 i ygid gl © 2

(1) IerEehl 1 TAd T 9 ecdifza &

(2) U SN H oS SV ] oA BIAG] o]
(3)  IH UM =l G G IFaeqedl s
(4) W I H A & WY HIHT Bl ST HILA FAT

L e S S e O iSO e

eyt fafag s=r o 2fEn Feafaigg & fadasr 37 9ahd el ©2

(1)  SHAHeTT =Hil

(2) afewr ° fawh fafm <0 o s=me=Al & Sifgn o ufedaa s

(3)  ofersg | foaell fafmg <O # S=aer & SigA 9 gfatiard 7@l e

(4)  TAHEAT HE

FeTeried stfafTadi =1 STk g 214 o 3TqshH | saelied =i
(a) gfaegsf s1fyfrag

(b) foczit qar yeiem srfufem

(c)  IUYIEI El&T HAfHEH

o —

(d)  HETT SATHTTIH

= fou T4 e o | WEl W T FL
b, (c
), (a)

(1) (b), {d (), () (2)  (d), (b), (¢) (&)
(3)  (d), (@), (b (4)  (e). (d), (b), (a)

e - T ey -, R S
[M=ledled =] 2l HHledd = 2

gt - 1 =it - 11

(wfafa) ( 37587 )
(a)  SATITTHR FU (i)  ewfee g4A
(b) = M P (i) SITeRR T
(c) o F=F (iti)  TTeRTT HIEA
(d) AFETEAT o= (iv) 19T &7 T
<he ;

(@) (b) (¢ (d)
() () G @ ()
(2) () (v) () (i)
(3)  (v) (1) (1) (11
(4) (O () ) (i)
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Arrange the following sectors in the ascending order on the basis of their weight in the Index
of Industrial production (IIP) with base year 2011 - 12, Answer [rom the code below :

(a)  LElectricity
(b) Manutacturing
(c)  Mining

Code :
(1) (), (b) and (a) (2)  (a), (c) and (b)
(3) (b}, (a) and (c) (4) (a), (b) and ()

For a financial assct, which of the following is/are correct in relation to rate of return and
the yield from it 7

(a) Rate of return is retrospective while the vield is prospective

(b) Rate of return docs not include capital gains while the yvield includes capital gains.
Choose the answer [rom the code below :

(1)  Both (a) and (b) are correct

(2)  Neither (a) nor (b) is correct

(3)  Omly (a) 15 correct

(4)  Omly (b) is correct

When the Reserve Bank of India announces an increase of the Cash Reserve Ratio, whal
does it mean 7

(1) The commercial Banks will have less money to lend

(2)  The Reserve Bank of India will have less money to lend
(3)  The Union Government will have less money to lend
(4)  The commercial Banks will have more money to lend

Core inflation has been described as :

(1)  Headline inflation —food inflation

(2} Headline inflation — (food inflation 4 fuel inflation)
(3)  Headline inflation — fuel inflation
(4)  Food inflation + Fuel inflation

According to T.W. Schultz, which of the following statements/are true ?

(a) Tarmers in developing countries are unresponsive o governmenl set agricultural prices

(b) Farmers in developing countries are willing to innovate and adopt new methods of
cultivatlion

Choose the correct answer from the code given below :

(1) Both (a) and (b) are true

(2)  Neither (a) nor (b) 15 truc

(3)  Only (a) is true

(4)  Only (b) is true
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METArEd Ha=d o1, 2011 - 12 o HR 99 & 91, RN 309ed o gahls (ST e 1) |
IR U o STHR WX STIRE FH H Aafedd #1| < KL T Fz H§ ¥ 3IW T .

(a) Torstedt

(by  TerfaTm

(c) @i

he @

(1) (0), (b) 3 (a) (2)  (a), () AR (b)
(3 (b), (@) IR () () (a), (b) 3R (¢

us; o aftefy & forn fefafaa 8§ 9 %5 fod =51 < it 558 oifig & gy § w2 3/ 2
(a) Hfawet i & qaeardt 2l T Srefer wiie sfas gl gl € )

(b) wfawer =t 5T | qoitTd eny el wnfaet St ¥ et wiitd | Ui oy vnfae g e
FEfaiEd 2 | S9R ] 99 i

(1) () 3R (b) IFT &I T |

(2) AT (a) AT (b) TE |

(3) HAA (a) ﬁ%l

(4) Faa (b) TE

s g e =5 ehe SIed S99 o FgfY w1 S0 R § Al 36 1 A9 g 7
(1)  aToTfeeh Sehl o U1 SUR <A ok T &H €9 A7 |

(2) urdr S 9% = 91 YR < % 60 & 99 g |

(3) 9 THN o I SHN <A & o7 A &9 g |

(4)  ATOTfoTeR Siel % T SUR ¢4 % o stfien & 2em

I HETEHITT ol Tohe &9 | A0 Terar mar § 2

(1) ‘'TeerEd’ HEwild — BTe gErEwnild

(2) 'ESARA’ YERhild — (TR HEERI + 29 JarEhi)
(3)  TSARET GEEHId— 38T TR

)

(4) e Hg TR + 9 He ThIfd

71,250y, Yo <h ATHR TTAfEd § | hiA-91/4 Hed ¥el §/8 7
(a) ForRTeliel <3l | TodT FehR g1 T iy Jedl <k 9T STiehaneii™ 8ld 2 |
(by Tawrovia < o fram Farmm w1 3R S 1 7 s S99 % 2e5F g ©
FEfafEd 2 ° 9 War S kT =49 i
(1) (a) ¥R (b) IF] WL T |
(2) HFIT(d}?)TI_{?f (b)ﬂﬁpl
(3) he (a) WEl 2|
(4) =Had (b) ¥EI T |
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The government levving taxes on Polluters or charging a surcharge for pesticide use means :
(1)  Internalization of negative spill over effects

(2)  Marginal abatemoent cost

(3)  Examples of a free rider

()

Examples of Coase’s theorem

Assuming an agricultural growth rate of 4% per annum in India, what will be its contribution
to the countrv’s GDP growth rate with a 20% contribution of the agricultural sector to
GDP ?

(1) 8%
2) 5%
3) 2%
(4) 0.8 %

Optimum population will be at a point where :
(1) National income 1s maximum

(2}  Per capita income 1s maximum

(3)  Population is maximum
(

£
4)  Per capita consumplion is maximum

Who amongst the following made the following statement 7
“The Table of nature is laid for the few. Those who come uninvited will starve”.
1} Julius Simon
2} k. Boscrup
3y T.W. Malthus
)

4 H. Dalton

(
(
(
(
Which of the {ollowing 1s not part of a life - table ?
(
(2
(3
(

It shows age - specific death rate

Age - speaific life expectancy can be estimated

Probability of surviving at particular vear of age can be estimated
4_

)
)
)
)

Age - specific birth rate can be estimated
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RN G UG TR Y IgUTed hidl A1 &iZA1EhT b YA T SIHUHR THId I o1 o1 379 ¢ 7

(1) “ThNIE AT THE T ST

(2)  HHIT SUYTHT TN

(3)  HEEN % ISR

(4) B (Coase) THA % IZEA]

TR H 4% ITd =¥ ki R Taehd < AF L, 29 H FiY T2 ok 20% INSH h WY, <3 i

STT2 T foeptd <0 | SHeh1 =741 AT B 2

(1) 8%
2) 5%
(3) 2%
(4) 08 %

oAy SAHE 3 Tog 9 grl 57

T 3 Afiay 2

)
(2) ufd =afed =g Aftesan 9|
)

SEE s1feray &l |

(4) g =afeq Iqum sAfaway 31|

frefafag woum fr= o 9 fRa § 7
“yepla 1 grad ore @l o feg g1 S fear fesm o6 s o aqe wi
(1) rer=d T8AT

-

(2) . =

(3) 2l HieaH
(4) UH gledd

Tefafiagd § © shA-91 Sa-H107 5] 97 T8 g 7

(1) =% sTR-Tafre g < S9il o |
(2 mw—ﬁrfw‘ 982 ST GeaT9n T SRl e =T Tehdl 2|
(3

)
3) et @ o aeh Sfifaa @A 1 He T STk fRal ST HeRdl g
)y sg-fafire 5 <X =1 e forar S S ©

(4
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Consider the following data pertaining to India as per NFHS - 4 and Match List - T with
List - II. Select the correct answer from the code given below :

List -1 List - IT
(Indicator) (Value)
(a) IFR iy 2.2
(b)  IMR (i) 30
(c) U-5MR (iify 79
(d)  Institutional Births (rv) 41
Code :
(@ () (o

(
)W) ) @)
)W) V) @) (i)
) 0 i) (
) Q) 6) ) (
Rank the following states in descending order according to sex ratio as per census 2011 :

(a) Madhva Pradesh
(h)  Punjab

(c) U.P

(d)  Bihar

Code :

(1) (a), {c), (d), (b)
(2} (B), (@), (0), (d)
(3)  (a), (b), (c) (d)
(4) (), (d), (b), (a)

Pollution is an example of Markel (ailure because :
P
1 The market price 1s less than the efficient price
P P

(2)  The market price is |'1ighcrr than the efficient price
3} Proporty rights are poorly distributed
porty mg I )
(

4)  Those who suffer from pollution are compensated outside the market

“For goods that are unrelated in consumplion, efficiency requires thatl tax rales be inversely
proportional to clasticity of demand”. This 1s the definition of :
(1) The benefits - received principle (2)  The second best principle

(3)  The inverse elasticity rule (4)  The Ramsey Rule
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49, TATRTITH - 4 % JJHN URa ¥ Hafg ffafeg o W fF=ar & 4R 9=t -1 &
T - 11 & 91y gofad %L F G0 70 &2z 1 9eal 9 98 SO o 99T &

et - 1 et - 11

( HWehTa ) (A7)
(a) e WslAT X iy 22
(by g <t iy 30
() S5aNFHRAFE TN (i) 79
() HEInd gHiead S (iv) 41
ohd

(@) (b) () (d)
(0 @) @) (v)
(2) () (v) () (1)
() (v) (@) () (i)
4) @ @ Gy (iv)

50. 9 2011 T SO % SER, o e & w5l ¥ fAfafe 79 1 ved gu e H g

(a) A T
(b) G
(c) S W
(d) fer
che :
(1) (a), (c), (d), (b)
@) (b), (), @),
(3) (), (b), (@), (d)
(4) () (d), (b), (a)

51. WSHU TSR Tahardl ol Ueh Sarelvl & il :

(1) SIS 4o 9 Hod | & 201§ |

(2) TR oF FHYE qoA H ATk gar ¥ |
(3) Hwfa = AfHR w1 B faater gma ¥
(4) TSN H gefad Fafad i AR % ARl Afayfd & =l

L
o

“F IEu S YT H Helhd T8 8, ST g o T g snfkm e g TR g, am il @
gidelrd A9 | 8 1" a9 TR el § ?

(1)  geny g fagr (2) Tgdt= gvean fagim

(3) wfaam @= e (4) U™ 7w
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A forward - shifted tax will affect :
(1)  Buyers and Sellers cqually
(2)  Scllers more than buyers

(3)  government revenue negatively

(4)  Buyers more than sellers

The case [or progressive lax rales resls on :

(1)  Benefils received

(2)  Cost of service
(3)  Ability to pay
(4)  None of the above

Primary deficit 1s measured by .

(1) Fiscal deficit — interest payvments
) Budget deficit — interest pavments

(3)  Budget deficit + total borrowings
)

Total Revenue expenditure —tolal revenue receipts

Which one of the following is not correctly matched ?

Plan Strategy of Plan
(1) 11" Plan Inclusive growth
(2) 2" Plan Heavy industry investment
(3) 3™ Plan Balanced growth
(4) 8t Plan Basic Needs

Who amongst the following economists have majorly conlributed to TIP studies in Indian
Contoxt ?

(a)  B.N. Golder

(b) A, Virmani

(c) D.K. Das

(d) A, Sen

Choose the correct answer from the code below :
(1)  All of the above

(2)  (¢) and (d)

(3)  (a), (b) and (c)

(4)  (b) and (d)

prepp
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93|
9]

Y- TN ST 2T 99T 2T

(1) zharsti #iR faskaptd o 9a=eEy §
(2) A w1 v fasharst W stfes
(3)  HIHR h TS G ThNCHh

(4)  Torhe1sti a1 #70al sheflsli 93 A

grifauetted = g0 =1 A fefafea o 9 foem w A @ 72
(1) 9 =™

(2)  HEl A

(3) A AFE

(4) TTF T T wE T2

Terfae: =1 &1 A9 fAefaiad § 9 e g =i St & 2
(1)  TSTIHR EET — AT AT

(2)  EISE HE — S A
(3) N2 "R + Fel SUR-UY
(4) A USTE & — Fe TsTeel qifee

freafafea o ¥ #9-31 gafad =& & 2

BISE SISTT SRl TOTHIT
(1)  TarEdEl 9] qHE T TRt
(2) &l A i e fery
(3)  ATERT Gl qdfad Hafg
(4) T3S ALl FfFTE STEvHFRary

yRa o "ol o frefafed | § fra sreret/ fee sefonfeat o1 S uw . s1s7 § we<it amee
T ?

(a) HIUA. TSR

(b) T forEm

(¢) Eleh <M

(d) T

= fou T4 e o | WEl I T FL
(1) ST W

(2) (9 ¥R ()

(®) (@), (b) R ()

(4)  (b) R (d)
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Consider the following statements in relation to Gender Budgeting and answer from the
code given below :

(a) ‘Gender analysis’ of the budget

(b)  Dreparing a separate budget for women

() Government of India adopted gender budgeting in 2005 - 06
Code :

(1)  (a), (b) are correct

(2} (a), (¢} arc correct

(3)  (b), (¢} are correct

(1) (a), (b), (¢) are correct

Arrange the following indices in the chronological order and answer from the code given
below :

(a)  Multi Dimension Poverly Index
(b)  THuman Poverty Index

(c)  Capability Poverty Measure

(d)  Human Development Index

Code :

1) (W), (©), b), (@
) (), b)), @
3)  (b), (), (d), (¢)
(@) (@, (), () ()

Which organisation in India has been given the responsibility to monitor the progress of
sustainable development goals 7

(1) Reserve Bank of India
(2)  Cenlral Statistical Office
(3)  NITI Aavog

(4)  National Sample Survey office
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58. ‘SeX A’ o Hey H HEfaiEa sweAl W aER i 3R A 79U T Fi2 ki werEd 9 3 S

(a) So2 =1 S fagermo’

(b) WTEenel o TaW Ueh 31er oe2 AR ]

(¢)  HId |LRE 7 o4 2005 - 06 | SIS S’ 37991 97|
he @
(1) (a), (b) H&l €1
(2)  (a), (c) WET €|
(3)  (b), (c) 2|
(4) (a), (b), (c) Tel B |
59. Trefafaa SawiHl &1 FRIHATER §50 1 A {6 70 %2 =i "9gra § I T

(a) AGSIATHI 7T TaFF

(b) | T Yerehieh

(c)  &mar (€= 7

(d) e fawme HeehT

(1) (d), (c). (b). (a)
(2)  (d), (b), (¢), (a)
(3) (b, (a), (d), ()
(4)  (a), (b), (), (d)

60. Y & g 9 &) 9yroiie T o] ot TR e o 2ifie | T e ?

(1) 9rd fed &9

[

(2) H=ra wilerE sy

(3) T st

(4)  ITSEA THEAT FALTT AR
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Which of the following does not come under Small Savings Schemes as per Government of
India ?

(1)

Post office deposits
Public Provident Fund
Jan Dhan Accounts

Sukanya Samiridhi Yojana

Which one of the following schemes provide upto ¥ 2 lacs accidental death Insurance to the
people in the age group of 18 - 70 years ?

Atal Pension Yoma
Pradhan Mantri Jeevan Jyvoti Bima Yojna
Pradhan Mantri Suraksha Bima Yojna

Atal Jeovan Beema Yoma
. ]

Queslions 63 Lo 66 are Asserlion (A) and Reason (R) tvpe. Key lo these questions is as follows :

63.

o4d.

65.

66.

Both (A) and (R) are truc and (R) 1s the correct explanation of {A).
Both (A) and (R) are true, but (R) is not the correctexplanation of (A).
(A) is true, but (R) is false.

(A) 15 false, but (R) is truc.

Assertion (A) : Public utilities do not opt [or profit maximisation policy.

Reason (R) : It would lead to under utilization of capacity.

Assertion (A) : The existence of industries with increasing returns to scale create an

additional opportunity to gain from trade.

Reason (R) : By specializing in a smaller number of industries, countries can produce

more in each industry and the costs of production will, therefore, fall.

Assertion (A) : Recursive models can be suitably estimaled by OLS method

Reason (R) : Recursive models satisfy Identification conditions

Assertion (A) : Classical macro model is decomposable into real and monetary sectors

Reason (R) : Money affects both income and employment
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(PR e

YT FLRR o STHAR AeAfafEd § § -9 o 999 A = $Aad Tel 101 3 7

(1)
(2)
(3)
(4)

Slent SiH|

ok gfasy Ty
YA Grd

=11 Tfg Al

AT § | Tohd sl o STavid 18 - 70 94 o 371 - ¥Hg & @l el T 2 N8 94 1 §H2A1 §g

a7 feqr Sra1 & 7

1)
)
)
@)

e YT AT

QA Hol Streq I S ars)

QT Hall FLeT =E1 s

FEe SrET BT 97

U9 AT 63 ° WG- T 66 T ATUEHRAT (A) SR doh (R) YFE 3 9T 8 | 37 9911 1 FHil 36 THE T

63.

o4,

65.

66.

(1)
(2)
(3)
(4)

(A) 3T (R) T T2 T 7971 (R), (A) =T TE 080 T

A) #R (R) 2F1 Tl 2, ofH (R), (A) T T2 == 781 € |

)
(A)
(A) H
(A) TEd ¥, TG (R) HR1

2, T (R) 7o 2

AR (A) : TR FEAAT 1Y AfIRaq T i Hifd T8 ST € |

R (R) ¢ THY &9l 1 3fed YA Bl I |

t"“‘ [ At )

arfierer (A) ;.  gfgam A = wfowa WX sreniia Samm =1 sifiae AT ¥ @Y w1 U SAfdieEa

e HL Scd=] hid] _E;rl

ek (R) 3R A AT o T fafiredientor & meAy 9, <97 Ui SR H ATE 3eaeH

& Hehd § 31 39 YR, Seq1ed ATTd | 20 |
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An entrepreneur’s short - run total cost function is C=q* — 107 + 174+ 66. If p=5 the output
al which profit is maximised by this enlrepreneur is :

(1) 7 @ 6 3 @ 2/3

Given the Market model with Demand and supply functions as under :
D,= ap,+b a<(
The condition for stable equilibrium here will be :

4 asa 2) lal< i (3)

B o Bk
a A < a A

The production function in Input - Output Analysis propounded by W.W. Leontief has implied
the value of elasticity of substitution between inputs as :

(1)  One (2) Zero (3)  Conslant (4)  Infinily

For a Demand Function p=16—q—0.5¢? the price clasticity of demand at q=4 is :

(1)  +0.5 (2)  +0.2 (3)  +0.7 (4)  +0.3

Cobb - Douglas production function Q= ATAK! ~4(a = () is not characterised by :
(1)  Constant returns to scale (2)  Unit elasticity of substitution

(3)  Variable elaslicity of substitution (4) Linear homogeneity

For samples of size greater than 30, the sampling distribution of the rank correlation coefficient
is approximately which distribution :

(L 1 (2)  Binomial (3} Chi - square (4)  Normal

If a Durbin - Watson statistics takes value close to zero, what will be the value of [irst order
autocorrelatiom coctticient 7

(1)  Closc to zero (2)  Closc to plus one

(3)  Close to minus one (4)  Close to either minus or plus one
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ToRdl 32T 1 3TeUE™ i [ e C=@° —10g2+17q +66 €1 F¢ p=>5 € a1 3% ITHI g1
faafafea ° 9 fea o w ey sifasag T s ?

(1) 7 (2) 6 () 5 @) 2/3

T SN Aiee o HT SR S e feed feg T E
D = apl%—b a<(
S,=Ap, |+B A>0

el Tt | &g o e
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(1)  +0.3 ) Y . 3)  +0.7 (4)  +0.3
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What would be consequences for the OLS estimator if heteroscedasticity is present in a

regression model but ignored ?
(1) it will be biased (2) il will be inconsistent

(3) it will be mefficient (4) Al (1), (2) and (3) will be true

NMatch the following and select proper code :

[ist - I List - 11
(a)  Kovyck (1)  Autocorrelated disturbances
(b)  Durbin - Watson (i) Lagged variables
(c) Tisher’s I' Tesl (iif)  Causality
(d)  Granger (iv)  Test of signilicance of overall regression
Code :

(@) (b) (g (d)
() M ) (m) o (iv)
2) M) @) () (1)
(3)  (m) v) (@) (1)
(1) ) ) (v) o (i)
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